Multiplication de Deux Binomes (D)

Simplifiez chaque expression.

1 (=3y° +9y°)(—8y + 8)

2. (=35> + 95%)(9s” — 9s%)

3. (—m* + 4m®)(8m® 4+ Tm*)

L (=g —8)(4g° — 5g°)

. (—87“5 + 47"4)(—97“5 — 57“4)

Ot

6. (—6¢° — 9¢")(8¢" — 3¢°)

7. (=7c—T)(=3c* — 6¢)

s (p* + Tp)(—8p® — 8p?)

e

(=P A+ 31

10. (=9b* 4 30%) (= 7b* + 2b°)
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Multiplication de Deux Binomes (D) Réponses

Simplifiez chaque expression.

(=3 + 9y2)(—8y + 8)
— 24y* — 96y° + 72°

\}

- (—38% +95)(95° — 9s*)
— —27s% 4+ 108s" — 815"

3. (—m* + 4m®)(8m® + Tm*)
— —8m” + 25m® + 28m

(—g —8)(4g° — 59°)
— —4g* — 27¢° 4 404

Ut

. (—87“5 + 47“4)(—97“5 — 57“4)
= 72r'" + 4 — 20

[o))
©

i (—6¢° — 9¢")(8¢* — 3¢°)
= —48¢" — 54¢® + 274"

(=Te— 7)(—3c* — 6¢)
— 2163 + 63¢% + 42¢

=~

(" + Tp)(=8p” — 8p7)
= —8p° — 64p* — 56p°

09

e

(=LA + 3
= —f*+ [T+ 12f°

10. (=9b" 4 30°) (=7b" 4 20°)
— 63b° — 39" + 60°
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